How to Substitute Yarn
Look at the Materials List

Shows you yards / skein.

ultiply the skeins by yards.
x 235 =$ 940 yards
x 235 = 705 yards

x 235 = 1175 yards
x 235 = 705 yards

Caron® United™ (4 02/113 g; 235 yds/215 m
Contrast A Aran (C600Z] is
Contrast B Burgundy (06009)
Contrast CNavy (06014)
Contrast D Light Blue (06017)

3 skeins
5 skeins

3 skeins

| Want to Use Bernat Super Value Instead

@EBT‘@ o This ball has 426 Yards. ‘ You Need to Round Up
Super Value ) Take the Total Yards -~ 940/ 426 = 2.2 = 3 Skeins
- Divide by 1 Skein Yardage 705/ 426 = 1.6 = 2 Skeins
1175/ 426 = 2.7 = 3 Skeins
705/ 426 = 1.6 = 2 Skeins
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Look at the Ball Band or
Go to Yarn Company’s Website



